© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

08960101 HANSAMAT - Cover part for shower faucet

EAN: 4057304013768

static.hansa.com/08960101

Spare parts
SP08960101
Name Code

3 Screw, M5x65 Chrome 59904847
4 Temperature control handle Chrome 59906965
41 Screw, M6x9.5 59901609
5 Cover sleeve Chrome 59904915
6 Thermostatic cartridge, G3/4 59904908
6.1 0-ring, 35x2.5 59905020
6.2 Screw, Méx4 59901027
63 Sealing kit 59910657
7 Shut-off spindle 59904913
71 0-ring, d 6.75x1.78 59902351
8 Non-return valve, G3/4 59904912
9 Screw, M8x12 59905022
" Raising kit, 35 mm Chrome 59901607
n Fixing bolt 59901647
13 Screw, M5x105 Chrome 59901639
NI Thermostatic cartridge, G3/4, H/C reversed 59906201

1


https://static.hansa.com/08960101

